W90 A H

HANSAVFLEX

EEEE AE0°

| _§:3

#0O1 K FIR IR L

FEHEX 1  60°FIHk

O 2 KREINRL B AT

BHERX 2 60°H4

=g APl EEEBEEEEE)

glar AE0°

=¥ ™

FKERP BERE

g

B G1 G2 S1 S2
W90 A06 H M14x15 M14x 15 14 19
W90 A0O8 H M16x1.5 M16x 1.5 17 22
W90 A10H M18x 1.5 M18x 1.5 19 24
W90 A13 H M22x1.5 M22x1.5 22 27
W90 A16 H M 26 x 1.5 M26 x 1.5 27 32
W90 A20H M30x1.5 M30x1.5 30 36
W90 A25H M38x1.5 M38x1.5 41 46
SW, S1, S2 = 3 Rih R E

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao

22.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



